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(Topic 6 continued . . . )

⇐ Let 9n= ✗ [ I. 2)

We showed previously
that (9^15=1

Was non - decreasing .
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Let

f( ✗ 1=14,5×1
= {
1 it ✗ c- Cos]

0 otherwise
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cas Suppose
✗ ¢ ( 0,2] .

So
,

✗ so or ✗ > 2 .

Then
, g.

( x ) = ✗ [÷ , 2)
(✗1=0

for all n > 2 .

Thus, Liz E. ( ✗I
= Inigo

0 = 0--1-1×1
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Pick N
> 0 where 0< # IX.

Then , %l×l=l '
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•-%•

If n > N then

qnlxt-Xci-n.IE#-H--X,-j.zyH1f
= 1

because [ In >2) c- [ Is 2) .

Thus
,
if n > N

then

14nA ) - f- (x ) / =/
1-11

= 0 < E .

So
, Inigo 91×1=1-1×1 . ☒
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Def Let SEIR
and

f : IR→ IR .

We say
that

f- is bended on
5 if

there exists
M > 0 where

/ f( ✗ I / EM
for all ✗ c-
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Let a. be IR
with a - b .

Let f : lR→lR
where f- is

bounded on [ a,b] .

Given nzl we will
define a

step function
On -

Divide [
a ,b] into

2
"

sub intervals
each

of

with An = b-÷

as follows :
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In,k=[atlk-DDngatb.sn)
where k=l, 2,3, .
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Now define pH
zn

8n= [ mn.no
In,k

k=l

Where mn,n=inf{ f- (t ) / t c- In ,n}

Note Mn,k exists
since f is

boundedoneachI&by assumption

The sequence ( Tn ) ?= ,

is called
the

[a, b)

constructively



EI. Let f- :lR→lR be PI

given by f- 1×1=11 .

Let [a. b)
= [ 0,1 ) .

Let's construct the
standard

construction for
f- on [ 0,1] .
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For general n we have pay

that Dn=¥=¥
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